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CHEMISTRY

BOOKS - CENGAGE CHEMISTRY
(HINGLISH)

PURIFICATION OF ORGANIC
COMPOUNDS AND QUALITATIVE AND
QUANTITATIVE ANALYSIS

lllustration


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. 0.2475 gm of an organic substance gave on
combustion 0.495 gm of C'Oy and 0.2025 gm of
H,0. Calculate the percentage of carbon and

hydrogen in it.

° Watch Video Solution

2. 0.30 gm of an organic compound gave 50 mL
of nitrogen collected at 300 K and 715 mm
pressure in dumas method. Calculate the

percentage of nitrogen in the compound


https://dl.doubtnut.com/l/_fy3gvoJemhBJ
https://dl.doubtnut.com/l/_rbOCR37ElxFI

(Vapour pressure of water or aqueous tension

of water at 300 K is 15 mm).

° Watch Video Solution

3.0.50 gm of an organic compound was treated
according to Kjeldahl's method. The ammonia
evolved was absorbed in 50 ml of 0.5 M H,50,.
The residual acid required 60 ml of TNa,OH
solution. Find the percentage of nitrogen in the

compound.

° Watch Video Solution



https://dl.doubtnut.com/l/_rbOCR37ElxFI
https://dl.doubtnut.com/l/_gIwGuhudKEXj

4.0.4 gm of an organic compound was treated
according to Kjeldahl's method. The ammonia
evolved was absorbed in 50 ml or 0.5M H3 POs.
The residual acid required 30 ml of
0.5MCa(OH), Find the percentage of N, in

the compound.

o Watch Video Solution

5. 0.002 gm of an organic compound was

treated according to Kjeldahl's method.


https://dl.doubtnut.com/l/_q151wWaa07vP
https://dl.doubtnut.com/l/_bQGoBblFTxe6

0.2 x 107% mol of H,SO, was required to

neutralise N H3. Calculate the percentage of N,

° Watch Video Solution

6.0.15 gm of an organic compound gave 0.12 gm
of silver bromide by the carius method. Find the

percentage of bromine in the compound.

° Watch Video Solution



https://dl.doubtnut.com/l/_bQGoBblFTxe6
https://dl.doubtnut.com/l/_AZ04lfU9UeJC

7. 0.2595 gm of an organic substance when
treated by carius method gave 035 gm of
BaSOy. Calculate the percentage of sulphur in

the compound?

° Watch Video Solution

8.0.12 gm of an organic compound containing
phosphorus gave 0.22 gm of Mgy P,0O; by the
usual analysis. Calculate the percentage of

phosphorus in the compound.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_HL39B2iD67NR
https://dl.doubtnut.com/l/_ZHuE0Ut2aWW0

9. 01693 gm of a volatile substance when
vapourised displaced 58.9 cm of air measured at
27°C and 746 mm pressure. Calculate the
molecular mass of the substance. (Aqueous

tension at 27°C = 26.7mmHg.)

o Watch Video Solution

10. 0.16 gm of a dibasic organic acid required

N
250 ml of 1—0NaOH for complete

neutralisation. Calculate its molucular mass.


https://dl.doubtnut.com/l/_ZHuE0Ut2aWW0
https://dl.doubtnut.com/l/_EjTY42VgTkwS
https://dl.doubtnut.com/l/_NHUHzUW58E5b

° Watch Video Solution

11. 0.45 gm of an organic compound gave on
combution 0.792 gm of COy and 0.324gm of
water. 0.24 gm of the same substance was
Kjeldahlised and the ammonia liberated was

absorbed in 50.0 ml of . The excess

8H,S50,
N
acid required 77.0 ml of 1—ONaOH for complete

neutralisation. Calculate the empirical formula

of the compound.

° Watch Video Solution



https://dl.doubtnut.com/l/_NHUHzUW58E5b
https://dl.doubtnut.com/l/_mOt0vGEGpGcb

12. 0246 gm of an organic compound
containing 58.53% carbon and 4.06 %
hydrogen gave 22.4 ml of nitrogen at STP. What

is the empirical formula of the compound?

O Watch Video Solution

13. 0.76 gm of the silver salt of a diabasic acid
was ignited. It gave 0.54 gm of pure siver.

Determine the molecular mass of the acid.

° Watch Video Solution



https://dl.doubtnut.com/l/_R7PDeGoCMheM
https://dl.doubtnut.com/l/_UbB4oyxUeMEl

14. 0.984 gm of the chloroplatinate of a diacid
base gave 0.39 gm of platinum. Calculate the

molecular mass of the base.

° Watch Video Solution

15.0.246 gm of an organic compound gave 0.198
gm of carbon dioxide and 0.1014 gm of water on
complete combustion. 037 gm of the
compound gave 0.638 gm of silver bromide.
What is the molecular formula of the compound

if its vapour density is 54.47


https://dl.doubtnut.com/l/_P1CejAH1PNkP
https://dl.doubtnut.com/l/_SpjKSYEJmRra

° Watch Video Solution

16. On analyisis, 0.2 gm of a monobasic acid gave
0.505 gm of CO4 and 0.0864 gm of H,0.0.305
gm of this acid required 25ml of 1—]\(/;NaOH for
complete neutralisation. Find the molecular

formula of the acid.

o Watch Video Solution

17. An acid of molecular mass 104 contains

34.6 % corbon and 3.45 % hydrogen. 3.812 mg


https://dl.doubtnut.com/l/_SpjKSYEJmRra
https://dl.doubtnut.com/l/_CUXHSZ0tpHug
https://dl.doubtnut.com/l/_FlbHOojAyil4

of the acid required 7.33 ml of 0.01N NaOH for

neutralisation. Suggest a structure for the acid.

° Watch Video Solution

18. A chloro compound (A) showed the following
properties,

i. decolourised bromine in Cl,

(i)). Absorbed hydrogen catalytically.

(il)). Gave a red precipitate with ammoniacal
cuprous chloride Itbr. (iv). When vaporised 1.49

gm of (A) gave 448 ml of vapours at STP. Identify


https://dl.doubtnut.com/l/_FlbHOojAyil4
https://dl.doubtnut.com/l/_FqfA1XEirzbL

(A) and write doen the equiation for the

reaction is step 3.

° View Text Solution

19. A hydrocarbon (A) of molecular weight 54
reacts with an excess of Brsy in Cly to give a
compound (B) whose molecular weight is 593 %
more than that of (A). However, on catalytic
hydrogenation with excess of hyrogen (A) forms
(C) whose molecular weight is noly 7.4 % more
that that of (A). (A) reacts with CH3CH,Br in

the presence of NaNH,; to give another


https://dl.doubtnut.com/l/_FqfA1XEirzbL
https://dl.doubtnut.com/l/_Oan8N79CHehR

hydrocarbon (D) which on ozonolyisis yields
kiketone (E). (E) on oxidation gives propionic

acid. Give the structure of (A) to (E) with reason.

o View Text Solution

20. A 20 ml mixture of CO, CHy, and Helium
(He) gases is exploded by an electric discharge
at room temperature with excess of oxygen.the
volume contraction is found to be 13 ml. A
further contraction of 14 ml occurs when the

residual gas is treated with KOH solution. Find


https://dl.doubtnut.com/l/_Oan8N79CHehR
https://dl.doubtnut.com/l/_bGj5eT13MY8Y

out the composition of the gaseous mixture in

terms of volume percentage.

° Watch Video Solution

21. ninety five milliliters of a mixture of a
gaseous organic compound (A) and just
sufficient amount of oxygen required for the
complete combution yields on burning 40 ml of
CO5 and 70 ml of water vapour along with 10
ml of nitrogen all volumes measured at the
same temperature and pressure. Compound (A)

contains carbon, hydrogen and nitrogen only as


https://dl.doubtnut.com/l/_bGj5eT13MY8Y
https://dl.doubtnut.com/l/_GJmDlZNsERuM

the consitituent elements. Calculate:
(). The volume of Os requried for complete
combustion

(b). The molecular formula of (A).

o Watch Video Solution

22. An organic compound contains carbon,
hydrogen and oxygen. IF the percentage of C:
the percentage of H = 6:1, calculate the
simplest formula of the compound, given that
one molecule of the compound contains half as

much oxygen as would be required to burn all


https://dl.doubtnut.com/l/_GJmDlZNsERuM
https://dl.doubtnut.com/l/_XWYcoUZ8Dq6d

the corbon and hydrogen atoms in it to CO,

and H,O

° Watch Video Solution

23. Fifty millilitre of a mixture of NH3 and H,
was completely decomposed into Ny, and H, by
sparking. Forty millilitre of Oy was then added
and the mixture was sparked again. After
cooling, the mixture was shaken with alkaline
pyrogallol and a contraction of 6 ml was
observed. Calculate the percentage of NHj in

the original mixture.


https://dl.doubtnut.com/l/_XWYcoUZ8Dq6d
https://dl.doubtnut.com/l/_nYJaOuQsXUvi

° Watch Video Solution

24. Ten millilitre of a gaseous hydrocarbon is
exploded with 100 ml of oxygen. The residual
gas on cooling is found to measure 95 ml. Of
which 20 ml is absorbed by caustic soda and the
remaining by alkaline pyrogallol. The formula of
the hydrocarbon is:

(a). CHy

(b) CoHg

(c) CoHy

(d) CoH,



https://dl.doubtnut.com/l/_nYJaOuQsXUvi
https://dl.doubtnut.com/l/_TlTg0LMusozh

‘ o Watch Video Solution

25. A mixture of formic acid and oxalic acid is
heated with conc. Hy, S0, . The gas produced is
collected and treated with KOH solution
where the volume decreases by 1/6th. The molar
ratio of two acids (formic acid/oxalic acid) in the
original mixuture is:

(a)4:1

(b)1:4

(c)2:1

(d)1:2



https://dl.doubtnut.com/l/_TlTg0LMusozh
https://dl.doubtnut.com/l/_CFSs8dtHQsvP

| QJ Watch Video Solution

26. Nine millilitre of a mixture of methane and
ethylene was exploded with 30 ml (excess) of
oxygen. After cooling, the volume was 21.0 ml
Further treatment with caustic potash solutio
reduced the volume to 7.0 ml. Determine the

composition of the mixture.

° Watch Video Solution



https://dl.doubtnut.com/l/_CFSs8dtHQsvP
https://dl.doubtnut.com/l/_x6DFZChXr8Ln

27. 10 mL of a mixture of CH,, CoH, and CO,
was exploded with excess oxygen. After
explosion, there ws a contraction of 17 mL on
cooling and there was a further contraction of
14 mL on treatment with KOH. Find out the

composition of the mixture.

° Watch Video Solution

28. An organic compound CH,,0, was burnt
with twice the amount of oxygen needed for

complete combustion to COy and H5O. The


https://dl.doubtnut.com/l/_ENRsAFSx94rn
https://dl.doubtnut.com/l/_5coDY4GgIGbs

hot gases when cooled to 0°C and 1 atm
pressure, measured 2.24 litre. The water
collected during cooling weighed 0.9 gm. the
vapour pressure of pure water at 20°C is 17.5
mm Hg and is lowered by 0104 mm when 50 gm
of the organic compound is dissolved in 1000
gm of water. Give the molecular formula of the

organic compound.

o Watch Video Solution

Solved Examples



https://dl.doubtnut.com/l/_5coDY4GgIGbs
https://dl.doubtnut.com/l/_BUzQ8cXzmSbZ

1. Lassigne's test in not shown by diazonium

salts and hydrazines (NHyNH,). Why?

° Watch Video Solution

2. Why a freshly prepared solution of FeSO, is

used in Lassaigne's test for nitrogen ?

° Watch Video Solution

3. How can a mixture of camphor and benzoic

acid be separated without using column


https://dl.doubtnut.com/l/_BUzQ8cXzmSbZ
https://dl.doubtnut.com/l/_m7IKXuHiakA9
https://dl.doubtnut.com/l/_4flCIv8GAYJl

chromatography?

° Watch Video Solution

4. Explain the following:

(a) In sodium fusion test, why excess of sodium
is taken?

(b) acetals give positive test with 24
dinitrophenylhydrazine..

(c) A polyhydroxy alcohol has the molecualr
weight of 168. On acetylation, the molecular
weight increases to 294. Determine the number

of ( — OH) groups present in the alcohol.


https://dl.doubtnut.com/l/_4flCIv8GAYJl
https://dl.doubtnut.com/l/_MxrIRVAgyqWU

(d) Chlorobenzene when treated with enhanilic

AhNOQO;3 does not give white precipate.

° View Text Solution

5. (a) Two volatile counpunds differ in their
boiling points by 20 K, how will they be
separated?

(b) What types of compounds are purified by
sublimation?

(c) How will I be separated from KCI?

(d) How are o— and p— nitro phenols

separated?


https://dl.doubtnut.com/l/_MxrIRVAgyqWU
https://dl.doubtnut.com/l/_Hf5JIXnaWgQs

(e) How is aniline purified?
(f). How is a mixture of maphthalene and

kerosene oil separated?

° Watch Video Solution

6. (a) how is a mixture of two organic
compounds separated, which have different
solubilities in the ame solvent?

(b) How is an organic liquid purified which
decomposes below its boiling point?

(c) Why is sodium extract boiled with HNOQOj;

before testing for halogens?


https://dl.doubtnut.com/l/_Hf5JIXnaWgQs
https://dl.doubtnut.com/l/_CPv0mPOIRxaG

(d) What type of organic compounds cannot be
estimated by Kjeldahl's method?

(e). What does blood-red colouration during
Lassaigne's test indicate?

(f). What happens when AgNQOj solumtion is

added to bromo methane?

° Watch Video Solution

7. One litre of a mixture of CO and CO, is
passed through red-hot charcoal. The volume
now becomes 1.6 litre. Find the composition of

the mixture by volume.


https://dl.doubtnut.com/l/_CPv0mPOIRxaG
https://dl.doubtnut.com/l/_JDYeerlxE4zp

° Watch Video Solution

8. Ten millilitre of a mixture of CO, CH,, and
N, exploded with an excess of O, and gave a
contaction of 6.5ml. When the residual gas was
treated with NaOH, there was further
contraction of 7 ml. What is the composition of

the original mixture?

o Watch Video Solution



https://dl.doubtnut.com/l/_JDYeerlxE4zp
https://dl.doubtnut.com/l/_z7JDEXi5aaTz

9. Sixteen millilitre of a hydrocarbon gas was
exploded with an excess of O,. On cooling t he
volume of the resulting gaseous mixture was
reduced by 48 ml. When KOH was added, there
was a further decrease of 48 ml in bolume. Find

the volucular formula of the compound.

° Watch Video Solution

10. An organic compound on analysis gave the
following data:

(i). 0.25 gm of the compound on complete


https://dl.doubtnut.com/l/_D0dm9agPyZBQ
https://dl.doubtnut.com/l/_3kkLhFSgY4Qg

combustion gave 0.37 gm of C'O5 and 0.2 gm of
water.

(i)). 0.25 gm of the compound on analysis by
Dumas method gave 32 ml of nitrogen gas at
STP.

Calculate the percentages of C, H, N and Oin

the organic compounds.

o Watch Video Solution

1. 1.216 gm of an organic compound was
reacted under Kjeldahl's method and the

ammonia evolved was absorbed in 100 ml


https://dl.doubtnut.com/l/_3kkLhFSgY4Qg
https://dl.doubtnut.com/l/_NIWjssexvIae

NH;5804. The remaining acid solution was

made up to 500 ml by the addition of water.

Twenty millilitres of the dilute solution required
N : :

32 ml 10 caustic soda solution for complete

neutralisation. Calculate the percentage of

nitrogen in the compound.

° Watch Video Solution

12. 011770 gm of an organic compound on
heating with conc. HNO;3 and silver nitrate in
Carius furnace gave 0.42 gm of AgCI. Find the

percentage of chlorine in the compound.


https://dl.doubtnut.com/l/_NIWjssexvIae
https://dl.doubtnut.com/l/_hbQXAYjznH6A

° Watch Video Solution

13. In a Victor Meyer's determination the

following observation were made:

° Watch Video Solution

14. 2.65gm of a diacidic base was dissolved in
500 ml of water. Twenty millilitres of this
solution required 12 ml of 3 HCl solution.
Calculate the equivalent mass and molecular

mass of the base.


https://dl.doubtnut.com/l/_hbQXAYjznH6A
https://dl.doubtnut.com/l/_o49zJEZyno5r
https://dl.doubtnut.com/l/_0xcksapgCQUI

o Watch Video Solution

15.0.49 gm of chloroplatinate of a diacidic base
gave on ignition 0.195 gm of platinum. Calculate

the molecular mass of the base.

o Watch Video Solution

16. 0.38 gm of a silver salt of a dibasic acid on
ignition gave 0.27 gm of silver. Calculate the

molecular mass of the acid.

I o WMiab .\ Nnndaa Caliibkiam



https://dl.doubtnut.com/l/_0xcksapgCQUI
https://dl.doubtnut.com/l/_PoHI0NPnT9JM
https://dl.doubtnut.com/l/_pzkX2y7VeAek

L ___VVdilll VIUCV JUVIULIVII ) )

17. Fifty millilitres of pure and dry O, was
subjected to silent electric discharge and on
cooling to the original temperature, the volume
of the ozonised oxygen was found to be 47 ml.
The gas was then absorbed in turpentine oil the
volume of the remaining gas was found to be 41

ml. Find the molecular formula of ozone.

o Watch Video Solution



https://dl.doubtnut.com/l/_pzkX2y7VeAek
https://dl.doubtnut.com/l/_ogrww9SW4KeW

1. When 100 ml of Oy — O3 mixture was passed
through turpentine oil, there was reduction of
volume by 20 ml. If 100 ml of such a mixture is

heated, what will be the increase in the volume?

° Watch Video Solution

2. fifty millilitre of a mixture of CO and CH,
was exploded with 85 ml of O,. The volume of
CO, produced was 50 ml. Calculate the
percentage composition of the gaseous

mixture.


https://dl.doubtnut.com/l/_32jqBgz1rWy2
https://dl.doubtnut.com/l/_YU9VzF5yfqW9

° Watch Video Solution

3. Ten millilitre of a gaseous hydrocarbon is was
exploded with oxygen. After the explosion, there
was a contraction of 20 ml in volume. On
shaking the residual gaseous mixture with
KQOH, there was a further concentration of 20
ml in volume. Calculate the molecualar formula.
All the volumes were recorded at same

temperature and pressure.

o Watch Video Solution



https://dl.doubtnut.com/l/_YU9VzF5yfqW9
https://dl.doubtnut.com/l/_m4STs1eNX3fz

4. An organic substance (0.2115gm) on
complete combustion gave 0.4655 gm of carbon
dioxide and 0.2533 gm of water. Determine the

percentage composition of the compound.

° Watch Video Solution

5.0.92 gm of an organic compound containing
carbon, hydrogen, and oxygen was analysed by
combustion method. The increase in the mass
of the U-tube and the potash bulbs at the end

of the operation was found to the 1.08 gm and


https://dl.doubtnut.com/l/_n7iOZ0xjhNRy
https://dl.doubtnut.com/l/_89KtIk9uVWP4

1.76 gm respectively. Determine the percentage

composition of the compound.

° Watch Video Solution

6. An organic compound was analysed by dumas
method. 045 gm of the compound on
combustion gave 48.6 ml nitrogen at 27° C' and
756 mm pressure. Calculate the percentage

composition of the compound.

° Watch Video Solution



https://dl.doubtnut.com/l/_89KtIk9uVWP4
https://dl.doubtnut.com/l/_FHq2S5LqSbjg
https://dl.doubtnut.com/l/_kvIzlFo82kJV

7.0.2 gm of an organic compound was analysed
by kjeldahl's method the ammonia evolved was
: N :
absorbed in 60 ml ?HQSOZ;. Unused acid
, N
required 40 ml of 1—ONa,OH for complete

neutralisation. Find the percentage of nitrogen

in the compound.

° Watch Video Solution

8.0.156 gm of an organic compound on heating

with fuming HNQO3 and AgNQO3 gives 0.235 gm


https://dl.doubtnut.com/l/_kvIzlFo82kJV
https://dl.doubtnut.com/l/_p0OwVKdXM7Gj

of Agl. Calculate the percentage of iodine in the

compound.

° Watch Video Solution

9. 0.5264 gm silver bromide is obtained from
0.5124 gm of an organic compound. Calculate

the percentage of bromine in the compound.

° Watch Video Solution



https://dl.doubtnut.com/l/_p0OwVKdXM7Gj
https://dl.doubtnut.com/l/_PwWKC08bu8S6

10. A duma bulb full of air weighs 22.567 gm at
20° C' and 755 mm pressure. Full of vapours of a
substance at 120° C' and the same pressure. It
weighs 22.8617 gm. The capacity of the bulb is

200 ml. Find out the molecular mass of the

am

substance. [density of air = 0.00129 l ]
m

° Watch Video Solution

11. 1.575 gm of an organic acid was dissolved in
250 ml of water Further, 20 ml of this solution

required 16 ml of = alkali solution for


https://dl.doubtnut.com/l/_owEMlJoQIkSX
https://dl.doubtnut.com/l/_HnN2ArBDlHTw

complete neutralisation. If the basicity of the

acid is 2, find its molecular mass.

o Watch Video Solution

Concept Application Type

1. Describe the method to separate two

compounds with different solubilities in a

solvent S.

o View Text Solution



https://dl.doubtnut.com/l/_HnN2ArBDlHTw
https://dl.doubtnut.com/l/_MI7as1THt5sB
https://dl.doubtnut.com/l/_HVTGnsn0HgxU

2. What is the different betweeen distillation
distillation under reduced pressure, and steam

distillation?

o View Text Solution

3. Why is nitric acid added to sodium extract
before adding silver nitrate for testing

halogens?

° Watch Video Solution



https://dl.doubtnut.com/l/_HVTGnsn0HgxU
https://dl.doubtnut.com/l/_6YTstnuJES5o

4. Explain the reason for the fusion of an
organic compound with metallic sodium for

testing nitrogen, sulphur and halogens

° Watch Video Solution

5. Name a suitable technique of the
components from a mixture of calcium sulphate

and camphor.

° Watch Video Solution



https://dl.doubtnut.com/l/_WgleAsG7IU6Q
https://dl.doubtnut.com/l/_bWD3Xy9dZUUi
https://dl.doubtnut.com/l/_NjNTNiWk9b9i

6. Explain why an organic liquid vaporises at a
temperature below its boiling point in steam

distillation?

° Watch Video Solution

7. Will CCl, give white precipitate of AgCl on
heating with nitrate? Give reason for your

answer

o Watch Video Solution



https://dl.doubtnut.com/l/_NjNTNiWk9b9i
https://dl.doubtnut.com/l/_6k9fYrPSL3qV

8. Why is solution of potassium hydroxide used
to absorb carbon dioxide evolved during the
estimation of carbon present in an organic

compound?

o Watch Video Solution

9. Why is it necessary to use acetic acid and not
sulphuric acid for the acidification of sodium

extract for testing sulphur by lead acetate test?

° Watch Video Solution



https://dl.doubtnut.com/l/_7Nany7lEBoSc
https://dl.doubtnut.com/l/_gJC3ncRpyXBW

10. An organic compound contains 69 % carbon
and 4.8% hydrogen, the remainder being
oxygen. Calculate the masses of carbon dioxide
and water produced when 0.20 gm of this

substance is subjected to complete combustion.

o Watch Video Solution

11. A sample of 0.50 gm of an organic compound
was treated according to Kjeldahl's method the
ammonia evolved was absorbed in 50 ml of

0.5M H5S50,. The residual acid required 60 cm


https://dl.doubtnut.com/l/_JAGqSJyXpTAg
https://dl.doubtnut.com/l/_xO6HhA5e3Ru5

of 0.5M solution of NaOH for neutralisation.
Find the percentage composition of nitrogen in

the compound.

° Watch Video Solution

12. 0.3080 gm of and organic chloro compound
gave 0.5740 gm of siver chloride in carius
estimation. Calculate the percentage of chloride

presents in the compound

° Watch Video Solution



https://dl.doubtnut.com/l/_xO6HhA5e3Ru5
https://dl.doubtnut.com/l/_2XBYwINrfWnp
https://dl.doubtnut.com/l/_hP7ZAI1WipZX

13. In the estimation of sulphur by carius
method, 0468 gm of an organic sulphur
compound afforded 0.668 gm of barium
sulphate. Find out the percentage of sulphur in

the given compound.

° Watch Video Solution

14. In the organic compound
CHgZ :CH—CHQ—CHQ— ECH, the
pair of hydridised orbitals involved in the

formation of Cy — C5 bond is


https://dl.doubtnut.com/l/_hP7ZAI1WipZX
https://dl.doubtnut.com/l/_OjH63vXpnjOd

A sp — sp2

B.sp — sp3

C. sp2 — sp3

D. sp3 — sp3
Answer: C

° Watch Video Solution

15. In the Lassaigne's test for nitrogen in an
organic compound, the Prussian blue colours is

obtained due to the formation of:


https://dl.doubtnut.com/l/_OjH63vXpnjOd
https://dl.doubtnut.com/l/_jweo8wwL0I9w

A.Nay|Fe(CN),]
B. Fey|[Fe(CN)g| ]

C. Fe|Fe(CN)g)

D. Fe|Fe(CN)g]

Answer: B

° Watch Video Solution

16. Which of the following carbocation is most

stable?


https://dl.doubtnut.com/l/_jweo8wwL0I9w
https://dl.doubtnut.com/l/_dz15CzX8YU4h

5]
D
D
C.CH;CH,CH,

)
D. CH;CHCH,CHs,

Answer: B

° Watch Video Solution

17. The best and latest technique for isolation,
purification, and separtion of organic

compounds is


https://dl.doubtnut.com/l/_dz15CzX8YU4h
https://dl.doubtnut.com/l/_mXUPgSYMRv8H

A. crystallisation

B. distillation

C. sublimation

D. chromatography

Answer: D

° View Text Solution

18. the reaction:

is classified as:


https://dl.doubtnut.com/l/_mXUPgSYMRv8H
https://dl.doubtnut.com/l/_W2Uf5uf0FPIY

A. Electrophilic substitution

B. Nucleophilic substitution

C. Elimination substitution

D. elimination

Answer: B

° Watch Video Solution

Linked Comprehension Type



https://dl.doubtnut.com/l/_W2Uf5uf0FPIY

1. Qualitative analysis of organic compounds is
performed by Lassaigne's test by fusion with
metallic sodium, by which the covalent
compounds are converted into ionic
compounds. Extra elementsline N, S, P
andhalogensaredetected by their usual tests.

Q. Which of the following compounds will give

positive lassaigne's test for nitrogen

A NH,OH

B. NH,NH,

C. KCN


https://dl.doubtnut.com/l/_RnzCJRso5KvK

o, @—N=N4l

Answer: C

o Watch Video Solution

2. Qualitative analysis of organic compounds is
performed by Lassaigne's test by fusion with
metallic sodium, by which the covalent
compounds are converted into ionic
compounds. Extra elementsline N, S, P

andhalogensaredetected by their usual tests.


https://dl.doubtnut.com/l/_RnzCJRso5KvK
https://dl.doubtnut.com/l/_9yMQaBquTgk0

Q. Which of the following will give blood-red

colour in lassaigne's test for nitrogen

A. PhNH,

B. PhNO,

()ZN—@—S%H
C.

D. PhSOsH

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9yMQaBquTgk0

3. Qualitative analysis of organic compounds is
performed by Lassaigne's test by fusion with
metallic sodium, by which the covalent
compounds are converted into ionic
compounds. Extra elementsline N, S, P
andhalogensaredetected by their usual tests.

Q. Prussian blue colour in the detection of
nitrogen in lassaigne's test in due to the

fomation of:

A.Fey|Fe(CN)g)

B. Fey|[Fe(CN)g]


https://dl.doubtnut.com/l/_1ug55VUlR1Pp

C. F€3(Cﬂ)6}2

D. Fe|Fe(CN)]

Answer: B

° Watch Video Solution

4. Qualitative analysis of organic compounds is
performed by Lassaigne's test by fusion with
metallic sodium, by which the covalent
compounds are converted into ionic

compounds. Extra elementsline N, S, P


https://dl.doubtnut.com/l/_1ug55VUlR1Pp
https://dl.doubtnut.com/l/_AsGnaAtdrhTZ

andhalogensaredetected by their usual tests.

Q. Violet colour in the detection of sulphur with

sodium nitroprusside is due to the formation of

A.Na3|Fe(CH) ,NOS]

B.NCL4

C. NCL4

Fe,(CN),NOS]|

Fe(CN)yS|

D. Nay|Fe(CN),S]

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_AsGnaAtdrhTZ

5. Qualitative analysis of organic compounds is
performed by Lassaigne's test by fusion with
metallic sodium, by which the covalent
compounds are converted into ionic
compounds. Extra elementsline N, S, P
andhalogensaredetected by their usual tests.

Q. An organic compound containing N, S and O
as extra elements is fused with metallic sodium
and then extracted with distilled water. Which

species is not presents in the Lassaigne's

A NOS


https://dl.doubtnut.com/l/_ORAzRA0rg3zP

B.CN
C.ONS°~

D.S%~

Answer: A

° Watch Video Solution

6. Qualitative analysis of organic compounds is
performed by Lassaigne's test by fusion with
metallic sodium, by which the covalent

compounds are converted into ionic


https://dl.doubtnut.com/l/_ORAzRA0rg3zP
https://dl.doubtnut.com/l/_tsQxo5vrQwe1

compounds. Extra elementsline N, S, P
andhalogensaredetected by their usual tests.
Q. The lassaigne's extract is boiled with dil.
HNOQOj; before testing for halogens because

A. AgCN is soluble is HNO;

B. Silver halides are soluble in HNOs

C. NaCN and NayS are decoposed by

HNO;

D. Ag,S'is soluble in HNO;

Answer: C

I o WMiab .\ Nnndaa Caliibkiam



https://dl.doubtnut.com/l/_tsQxo5vrQwe1

L ___VVdilll VIUCV JUVIULIVII ) )

7. Qualitative analysis of organic compounds is
performed by Lassaigne's test by fusion with
metallic sodium, by which the covalent
compounds are converted into ionic
compounds. Extra elementsline N, S, P
andhalogensaredetected by their usual tests.

Q. Black precipitate in the detection of sulphur
with lead acetate and acetic acid is due to the

formation of:

A. Pb,S


https://dl.doubtnut.com/l/_tsQxo5vrQwe1
https://dl.doubtnut.com/l/_7FExBsCoxeDy

B. PbS

C. PbS,

D. PbSO,

Answer: B

° Watch Video Solution

8. Qualitative analysis of organic compounds is
performed by Lassaigne's test by fusion with
metallic sodium, by which the covalent

compounds are converted into ionic


https://dl.doubtnut.com/l/_7FExBsCoxeDy
https://dl.doubtnut.com/l/_DRaSArK1N6cX

compounds. Extra elementsline N, S, P
andhalogensaredetected by their usual tests.

Q. Blood-red colour in the detection of both v
and S in lassaigne's extract is due to the

formation of :

A. Fe(CNS),
B. Fe(CNS),
C. K4 [FG(CN)(J

D. K3 [Fe(CN),]

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_DRaSArK1N6cX

9. Qualitative analysis of organic compounds is
performed by Lassaigne's test by fusion with
metallic sodium, by which the covalent
compounds are converted into ionic
compounds. Extra elementsline N, S, P
andhalogensaredetected by their usual tests.

Q. Yellow precipitate in the detection of
phosphorous when an organic compound is
heated with Nay0O, and then boiled with conc.
HNQOj; followed by the addition of ammonium

molybdate is duw to the formation of :


https://dl.doubtnut.com/l/_DRaSArK1N6cX
https://dl.doubtnut.com/l/_hMAT2BkgofWi

A (NH4)3 PO4.12M003
B. (NH4)3 PO4_6MOO3
C. (NH4)3 PO4.12MOO2

D. (NH4)3PO4.6M002

Answer: A

© Watch video solution

10. Qualitative analysis of organic compounds is
performed by Lassaigne's test by fusion with

metallic sodium, by which the covalent


https://dl.doubtnut.com/l/_hMAT2BkgofWi
https://dl.doubtnut.com/l/_wOyvm5D3vjGW

compounds are converted into ionic

compounds. Extra elementsline N, S, P

andhalogensaredetected by their usual tests.

Q. Beilstein test is given by:

A. RX(X=CI,Br,l)’

B. Urea

C. Thiourea

D. All

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wOyvm5D3vjGW

11. Quantitative estimatin of C, H and extra
elements (e.g., N.S.P, and halogens) is carried
out by Liebig's combustion, Carius, Dumas, and
Kjeldahl's method.

Q. Liebig's combustion method is used for the

quantitative estimation of :

A.Cand H

B. Halogens

C.Sand P

D.N


https://dl.doubtnut.com/l/_CLPdYo1NfJt2

Answer: A

o Watch Video Solution

12. Quantitative estimatin of C, H and extra
elements (e.g., N.S.P, and halogens) is carried
out by Liebig's combustion, Carius, Dumas, and
Kjeldahl's method.

Q. Carius method is used for the quantitative

estimation of:

A.Cand H


https://dl.doubtnut.com/l/_CLPdYo1NfJt2
https://dl.doubtnut.com/l/_IjlR07ZIAG7X

B. Halogens, S, and P

C.N

D. all

Answer: B

° Watch Video Solution

13. Quantitative estimatin of C, H and extra
elements (e.g., NS.P, and halogens) is carried
out by Liebig's combustion, Carius, Dumas, and

Kjeldahl's method.


https://dl.doubtnut.com/l/_IjlR07ZIAG7X
https://dl.doubtnut.com/l/_7gv1aILPRwuc

Q. Dumas and Kjeldahl's method are used for

the quantitative estimation of

A.Cand H

B. Halogen, S, And P

C.N

D. All

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7gv1aILPRwuc

14. Quantitative estimatin of C, H and extra
elements (e.g., N.S.P, and halogens) is carried
out by Liebig's combustion, Carius, Dumas, and
Kjeldahl's method.

Q. In carius method for the quantitative
estimation of phosphorous by using magnesia

mixture, phosphorous is estimated by:

A. MgNH, PO,
B. MgQP207
C. (NH4)3PO4.12M003

D. All


https://dl.doubtnut.com/l/_SFlx2r6KSrzX

Answer: B

o Watch Video Solution

15. Quantitative estimatin of C, H and extra
elements (e.g., N.S.P, and halogens) is carried
out by Liebig's combustion, Carius, Dumas, and
Kjeldahl's method.

Q. In Carius method for the quantitative

estimation of sulphur, it is estimated by:

A. BaS


https://dl.doubtnut.com/l/_SFlx2r6KSrzX
https://dl.doubtnut.com/l/_rK5mZ4xvMhEJ

B. CCLSO4

C. BCLSO4

D. BaC’l2

Answer: C

° Watch Video Solution

16. Quantitative estimatin of C, H and extra
elements (e.g., NS.P, and halogens) is carried

out by Liebig's combustion, Carius, Dumas, and


https://dl.doubtnut.com/l/_rK5mZ4xvMhEJ
https://dl.doubtnut.com/l/_tp9Xn0XlEE0D

Kjeldahl's method.

Q. Carius is the name of:

A. A chemist

B. A biologist

C. A sealed capillary tube

D. Along necked round bottom flask

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_tp9Xn0XlEE0D

17. Quantitative estimatin of C, H and extra
elements (e.g., N.S.P, and halogens) is carried
out by Liebig's combustion, Carius, Dumas, and
Kjeldahl's method.
Q. Kjeldagl's is the name of

A. A scientist

B. A round Bottom flask

C. A sealed capillary tube

D. Along necked round bottom flask

Answer: D



https://dl.doubtnut.com/l/_3VgGr80lQwFg

l ° Watch Video Solution

18. Quantitative estimatin of C, H and extra
elements (e.g., N.S.P, and halogens) is carried
out by Liebig's combustion, Carius, Dumas, and
Kjeldahl's method.

Q. In the quantitative estimation of
phosphorous by using magnesia mixture, the
formula used is: Where W is the mass of

Mgy P,O7 and w is the mass of the compound.

A. Percentage of P = 62 X W x 100
' & ~ 9222 w



https://dl.doubtnut.com/l/_3VgGr80lQwFg
https://dl.doubtnut.com/l/_F9WabsWRaN4c

31 W x 100

B. Percentage of P = 599 X ”
C. Percentage of P = 62 X w x 100
222 |14
D. Percentage of P = - X w x 100
222 |14
Answer: A

° Watch Video Solution

19. Quantitative estimatin of C, H and extra
elements (e.g., NS.P, and halogens) is carried

out by Liebig's combustion, Carius, Dumas, and

Kjeldahl's method.



https://dl.doubtnut.com/l/_F9WabsWRaN4c
https://dl.doubtnut.com/l/_zKwieJUNGY90

Q. In the quantitative estimation of
phosphorous by usin ammonium molybdate,
the formula used is: Where W is the mass of
ammonium phospho molybdate and w is the

mass of the compound.

A. Percentage of P = 51 X W x 100
1877 w

B. Percentage of P = 62 X W > 100
1877 w
31 w x 100

C. Percentage of P = 1377 X W

D. Percentage of P = 62 X w x 100
1877 |14

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_zKwieJUNGY90

20. Quantitative estimatin of C, H and extra
elements (e.g., N.S.P, and halogens) is carried
out by Liebig's combustion, Carius, Dumas, and
Kjeldahl's method.

Q. In the quntitative estimation of oxygen by
using I,Os5. The formula used is:

Where W is the mass of CO, and w is the mass

of the compound.

o Watch Video Solution



https://dl.doubtnut.com/l/_zKwieJUNGY90
https://dl.doubtnut.com/l/_dwklzKT6JrON

21. Twenty millilitres of a gaseous hydrocarbon
required 400 ml of iar for complete cumbustion.
The air contains 20 % by explosion and cooling
was found to be 380 ml.
Q. Volume of O, used is:

A .70 ml

B.75 ml

C.80 ml

D. 85 ml

Answer: C



https://dl.doubtnut.com/l/_l9tu8KYWB9wH

l ° Watch Video Solution

22. Twenty millilitres of a gaseous hydrocarbon
required 400 ml of iar for complete cumbustion.
The air contains 20 % by explosion and cooling
was found to be 380 ml.
Q. volume of residual nitrogen is:

A.300 ml

B.310 ml

C.320 ml

D. 330 ml


https://dl.doubtnut.com/l/_l9tu8KYWB9wH
https://dl.doubtnut.com/l/_pLnsC7O3cqMo

Answer: C

° Watch Video Solution

23. Twenty millilitres of a gaseous hydrocarbon
required 400 ml of iar for complete cumbustion.
The air contains 20 % by explosion and cooling
was found to be 380 ml.

Q. Volume of O, is:

A. 40 ml

B. 60 ml


https://dl.doubtnut.com/l/_pLnsC7O3cqMo
https://dl.doubtnut.com/l/_JsH5azoY0dad

C.80 ml

D. 100 ml

Answer: B

° Watch Video Solution

24. Twenty millilitres of a gaseous hydrocarbon
required 400 ml of iar for complete cumbustion.
The air contains 20 % by explosion and cooling
was found to be 380 ml.

Q. Formula of the hydrocarbon is:


https://dl.doubtnut.com/l/_JsH5azoY0dad
https://dl.doubtnut.com/l/_d0itJzVlD9JV

A. Cs Hy

C. 03H4

D. C, H

Answer: C

° Watch Video Solution

25. Twenty millilitres of a gaseous hydrocarbon
required 400 ml of iar for complete cumbustion.

The air contains 20 % by explosion and cooling


https://dl.doubtnut.com/l/_d0itJzVlD9JV
https://dl.doubtnut.com/l/_1uVj2BYrJXJ1

was found to be 380 ml.

Q. The structure of hydrocarbon is:

AMe - ~2= _H

B.H — 2C = C = CH,

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_1uVj2BYrJXJ1

Multiple Correct Answers Type

1. Which of the following statements is/are

correct?

A. Aluminium wire is used in Beilstein test.

B. Nitrogen gas is quantitatively estimated

in dumas method.

C. In Kjeldahl'smethod organic compound is

reacted with conc. H,50,4, K;,50, and

NaSO, are also added.


https://dl.doubtnut.com/l/_d53ymhl9owFn

D. All organic compounds contains both C

and H.

Answer: B

o Watch Video Solution

2. Which of the following statements is/are

wrong?

A.Sulphur is estimated by Caius method as

BCLSO4.


https://dl.doubtnut.com/l/_d53ymhl9owFn
https://dl.doubtnut.com/l/_Rt5iJYl4iRBI

B. Victor Meyer's method is used for the
determination of molecular mass of a non-
volatile compound.

C. Kjeldahl's method isused for all nirogen-
containg organic compounds.

D. Phosphorous is estimated by Carius

method as Mg(NH,). PO,.

Answer: C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_Rt5iJYl4iRBI
https://dl.doubtnut.com/l/_rIcdon34xblL

3. Which of the following statements is/are

correct?

A.Liebig's method is wused for the

quantitative estimation of both C and H.

B.Dumas method is wused for the

quantitative estimation of N in all

nitrogen-containing organic compound.

C.In Liebig's combustion method, ordinary

CuO is used.


https://dl.doubtnut.com/l/_rIcdon34xblL

D. Silver salt method is a chemical method

for the determination of equivalent mass

of organic acids.

Answer: A::B::D

° Watch Video Solution

4. Which of the following statement is/are

wrong?


https://dl.doubtnut.com/l/_rIcdon34xblL
https://dl.doubtnut.com/l/_sg0EdpvOqMcY

A. Beilstein test is a reliable test for

halogens in organic compounds.

B.In Lassaigne's test for N, Prussian blue

colour is due to the formation of ferro-

ferri cyanide.

C.When FeCl; solution is added to the

Lassaigne's extract, a blue solution is

obtained which indicates the presence of

both N and S.


https://dl.doubtnut.com/l/_sg0EdpvOqMcY

D. Molecular mass of an acid = Equivalent

mass X acidity

Answer: A::B::C::D

° Watch Video Solution

5. Which of the following statements is/are

correct?

A. When a lassaigne's solution is heated with

dil. HNQOs, cooled and AgINOs solution is


https://dl.doubtnut.com/l/_sg0EdpvOqMcY
https://dl.doubtnut.com/l/_2YAujdm2E7nN

added, a vyellow precipitate, partially
soluble in NH; or NH,OH indicates the
presence of iodine is organic compound.

B.When (CH3COO),Pb solution is added
to the acidified lassaigne's extract of an
organic compound, a black precipitate of
PbS is formed.

C. An organic compound containing N, on

heating with conc. HyS0O, gives


https://dl.doubtnut.com/l/_2YAujdm2E7nN

(NH4),S0O, which liberates NHjs of
treatment with excess of NaOH.

D.The molecular mass of a non-volatile
organic compound is determined either
by dumas method or by Victor Meyer's

method.

Answer: B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_2YAujdm2E7nN

6. Which of the following statements is/are

wrong?

A.the gas displaced is Victor meyer's

method is air.

B. The simplest formula that shows the ratio

of the atoms of various elements present

in the molecule is called the molecular

formula.

C. Estimation of oxygen in an organic

compound is also made by Aluise's


https://dl.doubtnut.com/l/_hKdyNNQqDnNt

method

D. An organic monoacidic base B on reaction

with  HyPtClg forms an insoluble

compound By H, PtClg

Answer: B

° Watch Video Solution

7. Which of the following rection is/are correct?

AC.H, + (z+ )05 = 2C0; + £ H,0


https://dl.doubtnut.com/l/_hKdyNNQqDnNt
https://dl.doubtnut.com/l/_1Dn8mIIFQ4sY

4F2" 1 [Fe(CN)g]"™ — Fes[Fe(CN)g],
C.5C0O + _[205 — I2 + 5002

D. P’ + S?>~ — PbS

Answer: C::D

o Watch Video Solution

8. Which of the following statements is/are

correct?


https://dl.doubtnut.com/l/_1Dn8mIIFQ4sY
https://dl.doubtnut.com/l/_UXXeTDqDGHoQ

A.In lassaigne's test for halogens, conc.
HNQs; is used to remove HC'N and HyS

B.When an organic compound is heated
with dry CuO and the gases evolved are
passed through lime water which turns
milky, the gass may be C'O5 or SOs.

C.In Carius method, sulphur is oxidised to
SOZ_ ion with fuming HNO4

D.In lassaigne's test, N present in the

organic compound is converted into


https://dl.doubtnut.com/l/_UXXeTDqDGHoQ

CN€ ions.

Answer: A::B::C::D

O Watch Video Solution

9. Which of the following statements is/are

correct?

A. Molecular formula or molecular mass of a

gaseous gydrocarbon can be determined


https://dl.doubtnut.com/l/_UXXeTDqDGHoQ
https://dl.doubtnut.com/l/_kz9egn6Ud3au

even without knowing their percentage
composition by eudiometry.
.In lassaigne's test,N and S both presents

in the organic compounds are converted

into CC_NS ion.

C. K,50, and CuSO, are added in

Kjeldahl's method K,S0, acts as a

catalyst while CuSO, raises the boiling

point of HySO,.


https://dl.doubtnut.com/l/_kz9egn6Ud3au

D. Layer test is used to distinguish CI°” and

Br¢~ ions.

Answer: A::B

° Watch Video Solution

10. Which of the following statements is/are

correct?

A. Nitroprusside ion is [Fe(C’N)5NO]2_

B. Nitroprusside ion is [Fe(CN)5NOS)2_


https://dl.doubtnut.com/l/_kz9egn6Ud3au
https://dl.doubtnut.com/l/_cvQSbZlih0zR

C.Prussian blue and Turnbull's blue,
respectively, are Fe4[Fe(CN)6}3 and
Feg[Fe(CN)GL.

D. Prussian blue and Turnbulls's blue,
respectively, are Feg[Fe(C’N)ﬁ}2 and

Fey|[Fe(CN)g),.

Answer: A::C

° Watch Video Solution

Single Correct Answer Type


https://dl.doubtnut.com/l/_cvQSbZlih0zR

1. Forty millililtre of CO was mixed with 100 ml
of O, and the mixture was exploded. On
cooling, the reaction mixture was shaken with
KOH What volume of gas is left?

A. 60 ml of Oy

B.80 ml of O,

C.20 ml of CO

D. 40 ml 002

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_McyEjFXQsUPH

2. Ten millilitre of a gaseous hydrocarbon was

burnt completely in 80 ml of O, at STP. The

volume of the remaining gas is 70 ml. The

volume became 50 ml, on treatment with

NaOH.The formula of the hydrocarbon is:
A.CyHg

D. Cs Hy


https://dl.doubtnut.com/l/_McyEjFXQsUPH
https://dl.doubtnut.com/l/_dCHhK92qth0J

Answer: B

o Watch Video Solution

3. 75 ml of a gaseous hydrocarbon was
exploded with 36 ml of Oy. On cooling the
volume of gases was found to be 28.5 ml, 15 ml
of which was absorbed by KOH and the rest was
absorbed in a solution of alkaline pyrogallol.

The formula of hydrocarbon is:

A. CQHG


https://dl.doubtnut.com/l/_dCHhK92qth0J
https://dl.doubtnut.com/l/_PeP1a03OuKXW

D. Cs H

Answer: B

° Watch Video Solution

4.Nine volumes of a gaseous mixture consisting
of gaseous organic compound A and just
sufficient amount of oxygen required for

complete combustion yielded on burning four


https://dl.doubtnut.com/l/_PeP1a03OuKXW
https://dl.doubtnut.com/l/_WyyVSWJwGItq

volumes (5. Six volumes of water vapour, and
two volumes of N, all volumes measured at the
same temperature and pressure. If the
compound contains C, H and N only, the
molecular formula of the compound A is :

A. 02H3N2

B. CoHg N,

C. CgHﬁNQ

D. C3HgN

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WyyVSWJwGItq

5. Two litre air formed 1915 ml of ozonised air

when passed through Brodio's apparatus. The

volume of ozone formed is:

A. 85 ml

B.170 ml

C.225 ml

D.42.5 ml

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WyyVSWJwGItq
https://dl.doubtnut.com/l/_tmB7ksblrd1d

6. n — Butane (CyHiy) is produced by
monobromination of CyHg followed by Wurtz
reaction. Calculate the volume of ethane. The
bromination takes place with 90 % yeild and
the wurtz reaction with 85 % yield.

A. 2775 litres

B. 55.5 litres

C. 111 litres

D. 5.55 litres


https://dl.doubtnut.com/l/_tmB7ksblrd1d
https://dl.doubtnut.com/l/_3jfrb6KfrmXW

Answer: B

o Watch Video Solution

7. Six hundred millitres of ozonised oxygen STP

was found to weigh 1 gm. What is the volume of

ozone in the ozonised oxygen?

A.200 ml

B. 150 ml

C. 100 ml

D. 50 ml


https://dl.doubtnut.com/l/_3jfrb6KfrmXW
https://dl.doubtnut.com/l/_qWX6hz3qayno

Answer: A

° Watch Video Solution

8. The weight of 1 litre of ozonised at STP was
found to be 1.5 gm. When 100 ml of this mixture
at STP was treated with turpentine oil the
volume was reduced to 90 ml. The molecular

weight of ozone is

A. 49

B.47


https://dl.doubtnut.com/l/_qWX6hz3qayno
https://dl.doubtnut.com/l/_aZmksKeE9LIq

C. 46

D.479

Answer: C

° Watch Video Solution

9. A mixture of ethylene and excess of Hy has a
pressure of 600 mm Hg. The mixture was passed
over nickel catalyst to convert ethylene to
ethane. The pressure of the resultant mixture at

the similar condition of temperature and


https://dl.doubtnut.com/l/_aZmksKeE9LIq
https://dl.doubtnut.com/l/_k6W0x2anSC0I

volume dropped to 400 mm Hg. the fraction of
CsH, by volume dropped to 400 mm Hg. The
fraction of CyH, by volume in the original
mixture is:

A. 1/3rd of the total volume

B. 1/4th of the total volume

C. 2/3rd of the total volume

D. 1/2 of the total volume

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_k6W0x2anSC0I

10. In the estimation of nitrogen by Kjeldahl's
method 2.8 gm of an organic compound
required 20 millimole of Hy,50, for the
complete neutralisation of NHj3 gas evolved.
The percentage of nitrogen in the sample is:

A. 20 %

B.10 %

C.40 %

D. 30 %

Answer: A

f 1


https://dl.doubtnut.com/l/_9D4QBDnfJBpt

l o Watch Video Solution

1. 03 gm of platinichloride of an organic

diacidic base left 0.09 gm of platinum on

ignition. The molecular weight of the organic

base is:

A. 120

B. 240

C.180

D. 60


https://dl.doubtnut.com/l/_9D4QBDnfJBpt
https://dl.doubtnut.com/l/_AjrfEoKorSiq

Answer: B

o Watch Video Solution

12. 0.5 gm of an organic substance containing
prosphorous was heated with sonc. HNOsj is
the carius tube. The phosphoric acid thus
formed was preciopitated with magnesia
mixture (MgNH,PO,) which on ignition gave
a residue of 10 gm of magnesium
phrrophosphate (Mg, P,O7). The precentage of

phosphorous in the organic compound is:


https://dl.doubtnut.com/l/_AjrfEoKorSiq
https://dl.doubtnut.com/l/_k6FgNmzE5C6w

A.55.85 %

B.29.72 %

C.19.18%

D. 20.5 %

Answer: A

° Watch Video Solution

13. A compound has the molecular formula
X40g.1f 10gof X 4,O¢ has 5.72g.X, atomic mass of

X is:


https://dl.doubtnut.com/l/_k6FgNmzE5C6w
https://dl.doubtnut.com/l/_uO4pPbdw9PWK

A.32 amu

B.37 amu

C.42 amu

D.98 amu

Answer: A

° Watch Video Solution

14. An organic compound contains 4 % sulphur.

Its minimum molecular weight is:


https://dl.doubtnut.com/l/_uO4pPbdw9PWK
https://dl.doubtnut.com/l/_Moz6fauuRBTR

A. 200

B.400

C. 800

D. 1600

Answer: C

° Watch Video Solution

15. Lassaigne's test is used for th detection of:

A. N, S, halogens


https://dl.doubtnut.com/l/_Moz6fauuRBTR
https://dl.doubtnut.com/l/_Jiq6mRQPGmNE

B.C,H,and P

C.C,H,and O

D.C,S,and P

Answer: A

° Watch Video Solution

16. In organic layer test C'S; or Cly is added to
lassaigne's extract and thenCl, water or

KMnQO, is added. This test is used to

ditinguish between


https://dl.doubtnut.com/l/_Jiq6mRQPGmNE
https://dl.doubtnut.com/l/_e2dZ5s227zCg

A.Br° and I°™

B.Cl°~ and Br¢~

C.ClI° and I°™

D.CIl° ,Br° ,and I~

Answer: A

° Watch Video Solution

17. An organic compound containing sulphur is
estimated by Carius method in which fuming

HNQj; is used to convert S into


https://dl.doubtnut.com/l/_e2dZ5s227zCg
https://dl.doubtnut.com/l/_GQyraXjnqIxk

A.SO3~
B. SO,
C. SO;

D. SO,

Answer: B

° Watch Video Solution

18. In Liebig's method for the estimation of C

and H, if the compound also contains halogens,


https://dl.doubtnut.com/l/_GQyraXjnqIxk
https://dl.doubtnut.com/l/_a1ot5NeGjzTa

which of the following is kept near the exit of

the combustion tube?

A. silver wire PbCeQ,

B. both (a) and (c)

C. C'u gauge

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_a1ot5NeGjzTa

19. In Liebig's method for the estimation of C
and H, if the compound also contains both
halogens and S, which of the following is kept

near the exit of the combustion tube?

A. silver wire

B. PbCT04

C.Both (a) and (b)

D. Cu gauge

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_doqF2L0MiOoO

20. In Liebig's method for the estimation of C
and H, if the compound also contains N, which
of the following is kept near the exist of the

combustion tube?

A. silver wire

B. PbC’I‘O4

C.Both (a) and (b)

D. C'u gauge

Answer: D

f _ 1


https://dl.doubtnut.com/l/_doqF2L0MiOoO
https://dl.doubtnut.com/l/_47nMwl539Bti

‘ o Watch Video Solution

21. A compound (60 gm) on analysis gave
C = 24gm H=4gm and O=31gm,, its empirical
formula is

A.CoH,0O

B. C2H402

C.CH,0

D. CH,0,

Answer: C

f 1


https://dl.doubtnut.com/l/_47nMwl539Bti
https://dl.doubtnut.com/l/_BPSfJZq77Hur

l o Watch Video Solution |

22, A compound contains

C=40%,0 =535%, and H =6.5% the

empirical formula formula of the compound is:

A.CH,O

B. CoH,O

C. CﬁHlQ 06

D. 02H402

Answer: A

[ = 1


https://dl.doubtnut.com/l/_BPSfJZq77Hur
https://dl.doubtnut.com/l/_pw4cnUwSFJVx

| ) Watch Video Solution

23. A compound contains C =90% and
H = 10% Empirical formula of the compound
Is:

A. C15Hj3

C.C3H,

D. C3H10

Answer: C

[ - 1


https://dl.doubtnut.com/l/_pw4cnUwSFJVx
https://dl.doubtnut.com/l/_mwJZKn3O8GYf

| @Y Watch Video Solution

24. The empirical formula of a compound is
CH>0 and its vapour density is 30. The
molecular formula of the compound is:

B. CoH Oy

C.CH,0O

D. 02H4O

Answer: B

[ - |


https://dl.doubtnut.com/l/_mwJZKn3O8GYf
https://dl.doubtnut.com/l/_WqNjzUkdxEOa

I @ Watch Video Solution I

25. The molecular mass of a compound having
empirical formula CyH50 is 90. The molecualr

formula of the compound is:

A. 06H15O3

B. C4H1002

. C,H;0

Answer: B



https://dl.doubtnut.com/l/_WqNjzUkdxEOa
https://dl.doubtnut.com/l/_Tq03IC5fcTR4

| QJ Watch Video Solution

26. A compound contains 38.8% C, 16 % H,
and 45.2% N The formula of the compound
would be

A.CH;NH,

B. CoHsCN

C.CH;CH

D. CH,(NH,),

Answer: A

| = 1


https://dl.doubtnut.com/l/_Tq03IC5fcTR4
https://dl.doubtnut.com/l/_uvLJskORsZ3j

I &J Watch Video Solution I

27. A compound containing 80 % C and 20 % H

is likely to be:

A. Cs Hy

B.CH,

D. C, H

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uvLJskORsZ3j
https://dl.doubtnut.com/l/_aaspPNm4ZKVx

28. An organic compound on analysis gave
C =428%,H =720%, andN = 50 volume
of 1 gm of the compoun was found to be 200 ml

at STP. Molecular formula of the compound is:

A. C4H8N4

B. C16H32 N1

C. C1oHy4 Ny

D. 02H4N2

Answer: A

| o |


https://dl.doubtnut.com/l/_aaspPNm4ZKVx
https://dl.doubtnut.com/l/_l1UjCybhKS1N

| & Watch Video Solution

29. 0.14 gm of an acid required 12.5 ml of 01 N

NaOH for complete neuturalisation.The

equivalent mass of the acid is:

A.63

B. 56

C.45

D. 112

Answer: D



https://dl.doubtnut.com/l/_l1UjCybhKS1N
https://dl.doubtnut.com/l/_I3vxcWljAOmb

| & Watch Video Solution

30. The empirical formula of anorganic

compound is C Hy.The mass of 1 mol of it is 42

gm.The molecular formula of the compound is:

A. C4H8

B. C2H4

C. Cy H

D.CH,

Answer: C



https://dl.doubtnut.com/l/_I3vxcWljAOmb
https://dl.doubtnut.com/l/_Q2bqDWVD6Tci

[ W Watch Video Solution ]

31.Indulin contains 3.4 % suplhur.The minimum

molecular mass of insulin is:

A. 940

B.350

C.470

D. 560

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Q2bqDWVD6Tci
https://dl.doubtnut.com/l/_nSjMg8jdHGM0

32. 024 gm of a volatile liquid upon
vaporisation given 45 ml of vapours at STP.
What will be the vapour density of the
substance? (density of Hy = 0.0Snglitre_l)
A. 9.539
B. 59.93

C.5.993

D. 95.39

Answer: B

| &


https://dl.doubtnut.com/l/_nSjMg8jdHGM0
https://dl.doubtnut.com/l/_7lkSnbTW9cvZ

| W Watch Video Solution

33. Liquid benzene (CgHg) burns in oxygen
according to
2CsHg(1) + 1505(g) — 12C04(g) + 6H>0,

How many litres of Oy at STP are needed for
complete conbustion o0of39 gm of liquid

benzene?

A. 11.2 litres
B. 74 litres

C. 84 litres


https://dl.doubtnut.com/l/_7lkSnbTW9cvZ
https://dl.doubtnut.com/l/_Kj1GPPcN1TGZ

D. 224 litres

Answer: C

° Watch Video Solution

34. A compound which does not give a positive

test in Lassaigne's test for nitrogen is:

A. Glycine

B. Hydrazine

C. Urea


https://dl.doubtnut.com/l/_Kj1GPPcN1TGZ
https://dl.doubtnut.com/l/_LmWqgMVPNAyc

D. Phynyle hydrazine

Answer: B

o Watch Video Solution

35. The catalyst used in Kjeldahl's method for

the entimation of nitrogen is:

A. Copper

B. Magnesium

C. Mercury


https://dl.doubtnut.com/l/_LmWqgMVPNAyc
https://dl.doubtnut.com/l/_RrVttHh3Cllf

D. Sodium

Answer: C

° Watch Video Solution

36. The concentration of C = 85.45% and

H = 14.55% is not obeyed by the formula:

A. C4H8

B. 02H4

C. Cy H


https://dl.doubtnut.com/l/_RrVttHh3Cllf
https://dl.doubtnut.com/l/_LV3cLfqnI8gx

D. CH,

Answer: C

° Watch Video Solution

37. The Prussian blue colour obtained during
the test of nitrogen by Lassaigne's test is due to
the formation of:

A.Fe [Fe(CN)6}3

B. Fey|[Fe(CN)g]

C. Fes[Fe(CN 6],


https://dl.doubtnut.com/l/_LV3cLfqnI8gx
https://dl.doubtnut.com/l/_sTUPZj4LyqbA

D. Nay|Fe(CN)g|

Answer: A

° Watch Video Solution

38. Which of the following sodium compound
is/are formed when as organic compound
containing both nitrogen and sulphur is fused

with sodium?

A. Suphite and cyanide

B. Thiocyanate


https://dl.doubtnut.com/l/_sTUPZj4LyqbA
https://dl.doubtnut.com/l/_u3DnT5LoX5d0

C. Cyanide and suphide

D. nitrate and suplhide

Answer: B

° Watch Video Solution

39. In which of the following compounds,

nitrogen cannot be tested by Lassaigne's test?

A.CH;CONH,

B. NH,. NH,H,0


https://dl.doubtnut.com/l/_u3DnT5LoX5d0
https://dl.doubtnut.com/l/_9vnIVleQPDnB

C.CsH;NH,

D. CxH; NO,

Answer: B

° Watch Video Solution

40. In dumas method for the estimation of

nitrogen in an organic compound, nitrogen is

determined in the form of:

A. Gaseous mitrogen

B. Sodium cyanide


https://dl.doubtnut.com/l/_9vnIVleQPDnB
https://dl.doubtnut.com/l/_3o9nN77yywxl

C. Ammonium sulphate

D. Gaseous ammonhnia

Answer: A

o Watch Video Solution

Assertion Reasoning Type

1. (a). If both (A) and (R) are correct and (R) is

the correct explanation for (A).

(b). If both (A) and (R) are correct and (R) is the


https://dl.doubtnut.com/l/_3o9nN77yywxl
https://dl.doubtnut.com/l/_OJjYF6V0dUS0

correct explanation for (A).

(c). If (A) is correct and (R) is incorrect.

(d). If (A) is incorrect and (R) is correct. Itbr. (e). If
both (A) and (R) are incorrect.

Q. Assertion (A): Essential oils are volatile and
are isoluble in H,O

Reason (R): Essential oils are purified by steam

ditillation.

° View Text Solution

2. (a). If both (A) and (R) are correct and (R) is

the correct explanation for (A).


https://dl.doubtnut.com/l/_OJjYF6V0dUS0
https://dl.doubtnut.com/l/_NwUA1jkTvSmR

(b). If both (A) and (R) are correct and (R) is the
correct explanation for (A).

(c). If (A) is correct and (R) is incorrect.

(d). If (A) is incorrect and (R) is correct. Itbr. (e). If
both (A) and (R) are incorrect.

Q. Assertion (A): Hydroxylamine (NH,OH)
contains N, and hence gives prussian blue
colour in lassaigne's test.

Reason (R): Hydroxylamine does not contain C,

so with Na metal. CIN°~ ion is not formed.

° Watch Video Solution



https://dl.doubtnut.com/l/_NwUA1jkTvSmR

3. (a). If both (A) and (R) are correct and (R) is
the correct explanation for (A).

(b). If both (A) and (R) are correct and (R) is the
correct explanation for (A).

(c). If (A) is correct and (R) is incorrect.

(d). If (A) is incorrect and (R) is correct. Itbr. (e). If
both (A) and (R) are incorrect.

Q. Assertion (A): Benzene (boiling point 353K)
and methanol (boiling point 338K) are
separated by simple distillation.

Reason (R): Fractional distillation is used to


https://dl.doubtnut.com/l/_sCul5P7tq7ly

separate two liquids from their mixture when

their boiling points differ by 20° or so.

° Watch Video Solution

4. (a). If both (A) and (R) are correct and (R) is
the correct explanation for (A).

(b). If both (A) and (R) are correct and (R) is the
correct explanation for (A).

(c). If (A) is correct and (R) is incorrect.

(d). If (A) is incorrect and (R) is correct. Itbr. (e). If
both (A) and (R) are incorrect.

Q. Assertion (A): Dumas method is more


https://dl.doubtnut.com/l/_sCul5P7tq7ly
https://dl.doubtnut.com/l/_SLQAJKBZVaGj

applicable to nitrogen containing organic
compounds than Kjeldahl's method.

Reason (R): Kjeldahl's method does not give
stisfactory results for compounds in which N is

linked to O atom.

° View Text Solution

5. (a). If both (A) and (R) are correct and (R) is
the correct explanation for (A).

(b). If both (A) and (R) are correct and (R) is the
correct explanation for (A).

(c). If (A) is correct and (R) is incorrect.


https://dl.doubtnut.com/l/_SLQAJKBZVaGj
https://dl.doubtnut.com/l/_OSnB8U5OiDKl

(d). If (A) is incorrect and (R) is correct. Itbr. (e). If
both (A) and (R) are incorrect.

Q. Assertion (A): In organic layer test, Cl, water
is added to the sodium extract, which oxidises
Br¢~ and I°” ions to Bry andls, respectively.
Reason (R): Reduction potential of Cly is

greater than that of Bry and I,.

o View Text Solution



https://dl.doubtnut.com/l/_OSnB8U5OiDKl

